— =
64. 1TH1AHEYCHHHE —SF2EE—
s o (g)
#]E R R EEEE IBGZ | 700 750 800 850 900 950 1,000 1,050 1,100
16 & I ! 1,038.8 1 T
078 B & 1,033.1 2 —
1585 & B 1,015.8 3 ]
02E H# B 993.1 5 _ ) _ )
108 B 2 990.2 6 —
5% H & 986.9 7
3511 O 2 981.7 8
4 W B 977.3 9
2 B B 972.2 10
19 14 U 2 971.6 11
8% W B 969.0 12 ] _ _ _
452 B OB 968.4 13 _ _ _ _
IE M B 957.9 14 _ _ _ _
Bb@E B B 957.7 15
4K Hn B 950.1 16
oldt & & 948.9 17
24 = Ed 2 946.8 18
40 E B 9459 19 e
2E H B 9456 20 I
30F1 Fx o B 938.0 21 I —
188 H B 9375 22 I
33 [if] ] 2 930.6 23 I —
09t KX B 9248 24 I
468k R B B 920.6 25 .
27K BR W 9145 26 ————
175 I B 9126 27 -
3EF F B 907.7 28 T
8E E B 900.7 29 I
o6l 2 B 900.5 30 I
2% M B 894.7 31 ]
12F ¥ B 893.9 32 |
/T B B 886.1 33 |
414 g 2 885.8 34 I
29 & E B 883.3 35 ]
43 AKX 1B 881.4 36 |
474 B B 881.0 37 ]
211 B & 871.7 38 ]
34 [ E B 876.7 39 |
1M = 2 861.2 40 ]
2% @ 2 858.1 41 I
IE N R 850.0 42 I
13 =W # 839.0 43 I
14# &= JI| B 837.4 44 I
25 % 2 822.4 45 | ;
20K % 2 807.2 46 ] !
26xR # 785.4 47 | :
& E 900.8 - I —
(&) om =
KAOBOSH2EEN1H1AHE=Y S HHH E(3950.1g
1,000 T, BIEEANS11.5gHPL. 2E6LLHE>TLND,
975.3 O HBET—R(EH2FE) ®
a & *HE | EE] |
N 2633 9616 . S | 395733  41669.102]
O BEEE(FMN2FE)
% 950 [CrnBENEER I 99.2 % (27f1) |
N
E’% 9347 938.5 \‘\ 9360
0] 906 ==
it 920.1 9183 \300.8
% 900 ® O BHUEA BEAI—REEVMVERERERLE
O FEHE - SM2EE
O HERN - BEE
—— AR ——-=- 2 O CHiBHE  —REEM RESNSHHINIEEY
& TRE, CHELVDNTND) DHERE
O CHDFBENEE QLI DSz HITR T DR 5
850 L = BB ELEOFRNEET-CHDEE

H23 24 25 26 27 28 29 30 RO1 02

* B EREDRED B DS DT CLVET .




